
TUTORIAL 10. DETERMINANT. INVERSE MATRIX. 
 

1. Calculate the following determinants: 

(a)

2215

2421

2313

1221

−
−
−

−

 (b)

3434

2323

1212

3121

 (c) det(A), where A(i,j)=i-j, n=5 

2. Show that det(A)=det(AT). 
3. Show that det(A)=0 if and only if one of the rows is a linear combination of the others. 
4. Show that for every 2×2 matrices A and B, det(AB)=det(A)det(B). 
5. Show that (AB)-1=B-1A-1. 
6. Calculate A-1 

(a) A=



















1000

1100

1110

1111

 (b) A=

















 −−

1421

1211

0211

0101

 (c) A=



















−
−

−−−
−−

1221

110

2232

2121

 

(d) A=























−

−

10122

21130

00121

11110

10232

  (e) A=



















−
−−
−−

−−

2211

2605

2110

1717

  (f) A=



















−−−
−
−
−

2154

2165

1122

1110

 

7. Prove that for every n×n matrix A over a field F, det(A-λI) ∈ Fn[λ]. 


